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4a (p251157) 2 5b (5"9p)

Note: The /111 obligates us to bring all gifs in a timely fashion and prohibits delaying both ma72 02772 as well as obligatory
donations — such as 1wy mmrn. The parameters of the violation of In8n 85 (v. 1) are debated in our 822D
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I. o1 n" as the beginning of the year vis-a-vis 091
a.  Challenge: 15% of 191, not 1071 N"9, is the beginning of the cycle
i. Answer: the Y3 which is the beginning of the cycle occurs during jo7
b. Implication of law: violation of InRN XY (v. 1) (according to w")
i.  am72 listing navp and nminy, including nvy, which must be brought in a timely fashion
1.  owom 3 09 (any order — even m»1aw ,noa ,mo) — per v. 2 (lists all 3)
2. w”: 3 oY in order (beginning with npo— could be as many as 5 ©’%x7)
a. v2: MNP unnecessary (context of 1A is in NWI9 of M)
i. Mentioned: to indicate that 1nxn %1 only occurs once all 3 have passed
3. »7115m: argument: NN obligates us to bring (v3)
a. Once: we don’t bring (when we have to appear anyway — a 931) —violation obtains
b. ©v2:used to teach nyaw 93 pmbwn for N1AY
i. meaning: may bring ann ma1p for 7 days just like mxnn an)
1. won’t extend: to y"nVY, as that is a separate 531
2. challenge: only separate for 2"wp 112", not for n¥an
3. answer: NOAN RY NN NOAN
ii. Text: Text includes m210 to compare to noa for N5 2vn (Noa — v5)
c. ™ s derive mxyy pmibwn: counted by weeks, “gets a week”
4. »7anT 2 oon, following v. 4 — plural of T (n3*1vN) implies 2
a. V2:he interprets same as n"™
5. 7ax7. Mo alone generates INXN 21
a. Argument: M0 is unneeded in v. 2 (see #2 above) > generates INRN 2
ii. Mention of noa: in Xn>»1 above re: INRN Y2
1. Challenge: noa has 1 day -anxn 91 is irrelevant
a. Answerl (¥7on ”7): mentioned incidentally (not deliberately — X1w’5 n»wR)
b. Answer2 (nww "7): refers to noa :nd>w (e.g. was lost and another brought in its place
and this one is now brought as nn5v)
i. a77o. it should be delimited by noa jnt
ii. 5w itis defined by general rubric of Inxn %2

1 a: new lottery (v2a): 1 — a1 (NN recited); 7 — 911 (called a separate name); p — 127p (breaks rhythm of mao
offerings) — v — 1w (different song sung by 0%); 23— n371 - special n372 with which people bless the king
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